R T F | I B ]
ZHa ] Il E® 5
] 9 € ,7‘74 > L—;
S L R B ! g;-g; -
AN I H — ~
E*E{EE OL.O 11)VC ﬁ?&ﬁ% i IT LUMUMU UMMM, F; g | EJ‘ |§ 3
auuuuuul E 5 J‘ EA\ S|
g g =
T ; A
] | -
i ‘B =
5 | s ]
=
a ;‘;’ AR
o]

T EREHREERE
RS £ # B % ¥ E | B | BE
= | RE# W=1000 EFDF 718 | m2
e | BMYA W510 X D300 X H280 7 ®
= | YA (ETTYT) W1950 H2100 1 i ‘ﬁgy&%%gﬂgiilﬁﬂig
— e mm W1950 H2100 1 #® ; ErTTTg,
AR
o | SRERE 500 X 500 X H1900 1 % S —
—s| FFY-A H=850 1E% L=12.8m 1 G . = J = |
—| F9Y-B H=850 1% L=15.6m 1| n, ‘J =
| -
o | BEARAARE $200 H300 14 E S I | B S ey ‘} E J‘( %
= = !
o | BEARAKM-2 $300 H500 8 | % 4Nzl “JJ 5 i )
- [mraxs-s $350 H600 80 | % e ; - d
I =
o | BEARAKHE-4 ¢ 500 H800 14 % H Ej‘
+ =
[ =
—— e
=
| o]
EJ
: L__ H
‘I\ =
4 b4 If =]
5 2 I =
158 [ o
-4 =
T e (] -1 N=14 > Nl 1 |# I bj
B et UL L1 U UL LU Uy 3 15 E
UL = I B
& I B
S Il |
et f T
|| 52 W\W.;m_w_rm:"’”g.mmrm-ww,-,_w,wm,ﬂmm -
L \‘\‘ < ,\ B JILJTHETH—WIIETEEWr—r’]:hwjfvl?:ﬁ’m 7 K%
1 o/ T s
=
e
w205 =]
=]
| ) 5
& i =
= LT f EJ‘
=== Cd A |
_x-las0 n , .
" I BANARN2E ) Fe SARARS NIE | T E
m‘ffi”imfé i -3 N=6 B T o PR I e R T T T . ik / E E
T 5 N_BHY A v N1 A ‘g 5
e TTTTTTITAIIIIIIT : . 8 1,' E
B — : | 5
£ H :
B | Ll LT =T T T 1 = T §

| —

T

ALLLLLT

nnmn

nAn?

T AL

e

ik jgi
=

T W#\t%j

T
il ]

JUNUUMUUUUULUUUUUUUULULLULSS

1T\
nARAR!
\ \

\ULLLULI e e

el L T I I T —

—L_ 1 [ | 4\‘J"J‘\w‘7WT‘w
e 2 il

PEMFREFSEEEHER

.
|

e UL —— = T \
R I 0 L L R A A ‘ i s
[T MR EHTER

SM243A

| Eu
| & &E "
{ B
E..con8 ﬁir
o ==/p N gy,
T T [T AR
——n — L R & vmom) [mmEs| s
%%;&LEQ% / . P
i RN z BREL| PETSEZALFER XLME




EEARNAH-1 (¢ 200 x H300) S=1:10 | HEARHNAK4E-2 (¢ 300 x H500) S=1:10 | HEARMAHE-3 (¢ 350 x H600) =1:10

T EE

=

)

" & oo = ¥ E E HomE X HoE X

Kkt

¢ 350 350

— = = 1 aposssn I
$200 200 ¢35000) AKbE
Moouwaenx&: - -— ] T | T

| - - _ — VH l‘ (bs;goua)§;|,x i JJ |
T3] 4-D10 ‘ A-D10 ‘
S Mll lI ! o : | l [1 ‘l/‘ N a-o6 [ | /‘
= i J\]{ = i g 1l |“l!‘ g N g EEk g
.'. L | .‘l | | © | ©
g e = T e | e il |
S W e E v | e x | [ za oo Ll avyy—k avyy—
sl ah— V—‘ ’ ‘U THtad sl ot V— 72 16-8-2568 1 Ll | ‘ ' "‘ 4 vel ; R [ 18-6-4088 18-6-4088
[ - L ‘H ol . o H /| / - 4 V6L 4 \ || V6.l
,8_ =] [ @ % i A | [ / B / m]r ‘ ‘ L \n7_
\EBBE N ERBE g« IR Js . | ‘ | 1 s
50 1400 7 50 01400 5o FO-40) ) 2| = | | | ' ‘ S
" " i ' (=3 o
0500 0500 8 \ S \ o ‘ o
= \ % = \
sol_ 0900 5o 50L 0900 Jso \
01000 % 01000 \ o|ﬁ 0900 Jso so|_ 0900 5o
01000 01000
RBERE RBRE
(RC-40) (RC-40) AERE %%)ﬁ
(RC-40) =
BARAAR1 (4200 xH300) HHEE 10£25 Y EARRAR-2(H300xH500) #Hisk 10825 Y HARARE-3 (350 xHG00) #Hi 1055 Y
% B B Mg X B | B 0B % I By % B | B 0= & B Mg % B | B 2=
BRRE RC-40 =100 m2 2.5 ERRE RC-40 =100 m | 10.0 RRRE RC-40 =100 m|  10.0
avyy—r 18-8-25BB m3 0.1 avyy—t 18-8-40BB m3 1.8 avyy—k 18-8-40BB m3 1.8
B m2 1.6 B o m2 9.0 B # m2 9.0
BAAKR BRDOEAXEE (x| 10 BEAAKR BRDOEAKEE (x| 10 EAAAR BRDOEAXEE (4| 10
IE4 SRR E MR A R N 3
H & % HiEE-5
) £A8 SM24E3A
R & ot |mEEs| s
244 fRIVYLE UBRARE
EEEL| PETHEEALEBR LR




A0 A 4E-4 (¢ 500 x H800)

S=1:10

)

=

B @
S=1:10
EEY
B 5y 8
/
ERF OIRFR)  t=50
FHEE S — b (BfHE100g/m232E)

Xo— b5y T8 (BER) [X10cmiZEZE

| BoE R LT B,
$ 500 ¢500 XEED*T?&FE!”%[ 00"1*?25‘:& | . 7Sﬁli4~67&/m2t?‘%>o
XBEEIE  EHFENEE (B L L. EEELBEOLRETHE,
BAVDE AALE
$500
\
l
\
| 8-D10 EEEy
f=4 o {
(=3 o
& ‘ 3 5-¢6
J‘\
| e » R 5
| s S e 8 E5%) Il FR) ME
V6.l 1 V6L 5
s |
] 7 F— 7
g 8 | g 8
j %
: & .
BOL 01100 |50 375 5o| 01100 5 HERpa
, > (RC-40) = > (RC-40)
01200 01200 °
o
BEARLAAE-4 (500 x HB00) #ikize 10551y REH HEE
& W 8% By % B | B 2= & TS B
ERERE RC-40 =100 m| 144 e — k BT@100g/mA2E |m2 | 10.0
avsy—k 18-8-40BB m3 2.0 ERF IER) =50 m3 0.5
B m2 8.8 BT x| 50
BARRALE PAPOEAXEE (4] 10
IE% S P REF MR R
®E 4 & E-6
5 £ A8 A A2 A
R & v |mmEs| 6

sH#H A pRIVHLE U YBRARH

ERXES PETHEZRSEBER XXEHR




HERRBE (BYE) Bl

Bl
BHa
$=1:10
300
|
HE W2mEE
B wam

X A REBORBEEIBES v

¥ @
§=1:30

FH=151. 60 300,300, 300, 300 30

BATHELZIL ’ BAT
JSQEE Yy, D) 7 Y

(1:3) =% Y
BESH FH=151. 00 300
150x 150 ¢ 6

avyy—t i S
(18-8-258B) — g A =1
BLavy Y—h ~
(18-8-258B) = = ﬁs

LA
®R-40) smLg
(013 L100)

¥ |
$=1:10
120, #EHR T Oy (A)
120 x 120 x 600
< e
o ;!L S
R o~
2 B8 9 S|
P37 3325 ELBI
(RC-40) 50_120_50 (1:3) =@y
220
SETER
§=1:30
ﬂl%
AR E BYEN) HHR 10m% Y
& W "% B % B | @ 0=
EBRE RC-40 =100 m2 2.2
ELZL 1:3 ZY m3 0.04
#HEHR IO Y | A 120x120X600 | m 10.0

AREER HHE ERER)
£ o HR ® B #® = i =

ERBE RC-40 t=100 m | 485
HLavsy—k | 18-8-2588 3 1.9

B B m2 3.7

avsy—t 18-8-258B 3 4.8

BESE 150x 150 x ¢ 6 m | 435

B B m2 9.2
FEHFELEZL 1:3 2y m3 1.5

AR FRR C0x30w | 8| 50.0

L D13 L100 ke | 26.9

I T ——

& 4 MiEE-4

£A88 ST243A

R & ®F |mEE%

S H & hRIVHLELUBRSH
RREL PETKEZASFED XILME




& A S=1:10 | BB &% S=1:10 | oo ) — haRiE S=1:10 \ﬁ1b7°ﬂ‘77§ﬁ§§ S=1:10
| o
2% TRk
¥ @
S=1:10
EEREI ST
- s “
| =2 = {5 Z Z -
= oL
FEERE RC—40 =100 £B Vb yU—F 18-8-2588  t=100 = )
SBIESE 150X 150 % ¢ 6 wEL
PR RO-40 2100
E E ®ILIovs (53%) =80
— B (HZ) (47%)
IOy 5 R
BEET
20005300 DyL AR () =20
BEKI— b+
PR 0-40 =160
B2 (50%5Y AR
B HHEE 100m22%4 Y BESE MHE 100m22%4 b 2 oPog M HHE 100m224 1)
% B |m M B | @ B & B o% Em N E | B = 2N BOow  |Em M E | B = EX B
i 50h84Y) TAARE m2 | 100.0 et RC-40 =100 m2 | 100.0 R 0 t=100 m2 | 100.0 Sl
BESR 150 % 1508 m2 | 100.0 ®itJowsy Jov Y B
i % %6h8 toi0~g3 | 10.0
120
198 80 511
1 1 I
{—H.H 5=
2 100 | 77
+ R 5=1:10 | MEF I s=1:5 | 24 me 5=1:5
198
] [
9
= Q 25
T g x & { EHTERT /it T oy LRSI \B%E)
\ G=1: 20
ol 8
o FH— N 2 5 {95-09%59" 7" 099 (53%)
SE s LR .
BT h—
£E BEEDLHE
(FLEyHhRE47) =40 .
o (R LTy PEER
PRI RC-40 =100 o5
b
RIL7 198 HEE 100m224 1
' T A
i ay=tid C-40 t=160 m2 100.0 \
FKL— bk m | 100.0 [\
by avE B t=20 m3 20 |\
®ieTovs 200 x 100 X80 m2 53.0 \
BT (H2) m| 470 \
MRETO v o ORE. BHSHMICOVTIEEADKEEBH L,
TREE MEE 100m224 SHERYM MR 10m Y 4B HEE 10m 1) >5<§Ei (ﬁﬂz%) I:I47%1>JJ:EE1%?’%>;:& ‘
& ® " Wi W B | B B & # M m |mw BB | W = 5 # BOEN | % B [ @ = S R Sl TR
- = ~
BEBE Rc—éa =100 m2 | 100.0 iR 1% Bomm H=100 | m | 10.0 ZERGH H=125 10:0 I % mm&gxﬂﬁmmkﬁ
=R % (5 rao [m2| 1000
BE & meEs  \
£A A aHemsR
R & B |mmEs| 1
. 24t &) mRILELELUARSM\
BEER| PEDKEZASEER TIMA




